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STRRTEFT FETER Key afiad 10 30 Tio¥g | geg e SwvgRas & §19 |
W & Calculator waRT 7 T B9 I\

. o fsue 7 g wwe o ed ?

Which of the following is NOT an element of a state?
(A) ¥ (Teritory) (B) WFer@1 (Population)

(C) g ifadan (Sovereignty) (D) anf¥& HeNfd (Economic Diplomacy)
2. TOB WA NG IWERP y9E P e ?

Which one of the following is NOT an important function of Government?
(A) gReT (Security)
(B) <7 GRe&M (Law and Order)
(C) 31 I5USH! RAPT [REM (Protection of other states interests)
(D) ¢t fA#ior (Decision making)
3. GG AR AR™ Y IY Y §8° A R a8 ? o
"Poltical science begins and ends with the state” identify the political scientist who holds this view.
(A) St 3% (David Easton) (B) &XIcs ®Md® (Harold Lashwell)
(C)®1 TR (Dr. Garner) (D) e 3MSHYS (Gabriel Almond)
4. To® A FAAIE JATH FaRATd) v &) ?
Which one of the following is a characteristic of presidential system?
(A) Eifegri! Hateadl (Supremacy of Constitution)
(B) IRpeMe! dedl AaA (Powerful lower house)
(C) eIRRpem #f=afR¥g (Powerful council of Ministers)
(D) v Irgufad) Fammefed (Accountability of the president to the legislature)
5. WQWWWWWWWWW%WW@W
e B B ?
The strict adherence of the theory of separation of powers is one of the salient features of "
(A) S/ dfde™ (British Constitution) (B) % wfde™ (Russian Constitution)
(C) 3mR®) |fde™ (American Constitution) (D) AUl WA (Nepali Constitution)

6. WAvaﬁmémﬁsmmmwmwmﬁml

Match the group A with the group B and select the correct answer by using the codes given below,

98 (Group) A S (Group) B
1.\ AERT AR (Power based on authority)

a) gG¥ma (Good governance)
b) 3uc1 (Legitimacy) 2. A 56 (Exemption from crime)

¢) @14 &R (Human Rights) 3. URGTRI (Trqnsparency)
d) TvEHd1 (Impunity) 4. JfreT ST (Life without torture)

Codes 2
(A) a-2,b-4,c-3,d-1 (B)a-3,b-1, c-4,d-

(C)a-3,b-2,c-4,d-1 (D)a-4b-3c2d1
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10.

11.

12.

oD 7D G B ? A-2

Which one of the following i cor

(A) fth T w1 §ig Ty lr(elf;iver d authority are not related )
- an

(B) wIftnant g e gy | (Power hag ng jymitation)

(C) oiipgrr wfdfa =y o <7g)

r is better.)
B | (A ity backed by power 1
(D) TwERT w\lia sy N W '((Pl;t\,tZ;lgcke d by authority is better.)

oD Al A Ay HTRIDY ey ? ,
Which one of the following is NoT a characteristic of parliamentary system!

(A) AR AR (Separation of powery

(B) TIRpee ~rramifoses (Powerful Judiciary)
(C) PrIuTSHT X =ravenfye Ll )
(Close relationship between the executive and legislature
(D) IR<fdd IRz (Real head of the sct‘;?:)e
YA 959 BRieM) TSR g @ ? :
A political system in which the executive head is the Prime Minister is Falled
(A) TEREATHD UG (Presidential system) (B) faf¥a wgfa (Mixed sys.tem)
(C) ¥¥ 1 Y€ (Common system) (D) F=RAUSTHT 9Ll (Cabinet system)
O DA F A% ¥ G 0 B | g FeEH R TR |

Among the following Statements, some are correct and some are incorrect. identify the correct
ones.

L BT 3Mafe T gRegyiers FT9Es g0 |
(In democracy, there are periodic and competitive elections)
[

2. 991! AR 6 G4 &
(The basic of authority is coercion) ’

3. BIBT=D! WhHHAD B IS o qaES B |
(Political parties are necessary for the success of democracy)
4.%%%%%%@@%% [
(Inclusive democracy refers to more participation of the poor people in politics)
(A)1R 2 &% &R 3 ¥ 4 3% (1and 2 are correct but 3 and 4 wrong)

D)2 43 R 1Y 3 WK (2 and 4 are correct but 1 a
TOPT A FToE SIS AR o7 & ?

Which of the following is a merit of the Presidential system?
(A) FRI=ToT®Y T (Unity of control)

(B) AFAvSH FaTHRRET (Ministria] accountability)

(C) RN o TR Ay (Official recognition of the opposition)

of the government)

Which one of the following is NOT

(A) IR (Transparency) (B) ST fRar (Acclount

bili
(C) BrA® I (Rule of law) (D) B Frfor (Policy ability)

Making)
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13.

14.

15.

16.

17.

18.

19.

A=
@ o T

ToH HTaNE S AT
Which of the following is NOT an elemen® of the Parliamentary system?
< Pl T P ”E”'zﬁaaﬁﬁ' ture and th ;
(Close relationship between the legisla € executive)
(B) werw=ie) g
(Leadership of the Prime Minister)
(€) e ¥ i 4 AR A0
(Division of powers between the 1€8!S
(D) FariemHiy BrRIgTIH®
(Accountability of the executive to t
Which one of the following is a drawback of the presxdentlal. system?
(A) e Frepmdt wveR (Ineffective government during emergency)
(B) #fwvserd! T (Dictatorship of the council of Ministers)
(C) Il wRs gergebiawuTe sreygerRedl (Unworkability of the exact separation of power)
(D) 3Ry ARFEwP WRPR (The government of incompetent persons)
TN 1Y 1 Rer W@ oW ergen |

Match list [ with List II, and select the correct answer.

Jature and the executive)

he legislature)
B 7

a) HHE 1. DR ¥ I WRBREw 49 Ak depie
(Parliamentary system) (Division of powers between central and provincial governments)
b) AR v 2. o SUfE gD AeHIl
(Presidential system) (Participation of hitherto excluded groups)
¢) weuTl @rba 3. GRBRG] THE TEw dr Wfth YAdhiRyl
(Participatory democracy) (Separation of powers among the main organs of government)
d) 9919 BHa S 4 TS BIBAER
(Inclusive democracy) (Closeness to direct democracy)
(A) a-2,b-4,¢c-3,d-1 (B) a-3, b-1, c-4,d-2
(C) a-4,b-2, ¢-1,d-3 (D) a-1, b-3, -2, d-4

71 7 grrafe Srla S RISl YaTeie g0 7

Under which of the following are the people aware of politics?

(A) I HEHfA (National culture) .

(B) RRIefiF IroiIfaes Wepld (Subject political culture)

(C) werft Waifae |&pfa (Participant political culture) |

(D) Taivf wREf9 Iafde Hepfd (Parochial subject political culture)

ToHT HEl HraTedl SR ARpEwD! IoraE  TENAT g5 ?

In which one of the following do many persons have political participation?

(A) i I Wepia (Parochial political culture)

(B) REfH IToiifoe Wepfa (Subject political culture)

(C) ey wwpfd (National culture)

(D) e oHIfi® wafa (Participant political culture)

Prme e IO Soal yga B Bl ¢

Which of the following is not a main function of a politica party?

(A) ¥rorfd® gaR (Political propaganda) (B) Iy afosm (Political training)

m %(%% T FH 5’1371(2) R eRT 532 (Promotion of ideology)
Which of the following is not an input functimz ngglitical system?

(A) A1 (Demand) (B) §9H (Support) BRI (Coercion] (D) fw (Opposition)

Contd...
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21,

22,

23.

24.

25.

?Wﬁ‘cﬁ?:ﬁ?emq A-4

-
What is the main differ M T A= @ 8 7
(A) RSy gy orenee be

<y eN a political party and a pressure group? %
(Political parties haye No ideny. X 9 TEP! fARYRT §6 | !
(B) Trai+fiferes 0 X T e°'°8v. but pressure groups have ideology) ;
(Political partjeg and pre BER wT foe | g
(C) v ifys THD SSure Broups both participate in elections) :
(Political parties INY, W @ TS IS | r
D S field candigatec ; . 2
(D) Rreriferes TG X €S in elections, but pressure groups do not)
(P(;l;gcal parties anq Pressyre gi?;m R T |
NIER FES UTe ups help each other)

Who among the followi )
politics? wing had Written ahout the j

(A) FfTT (Kautilya) (B) .(
T Many) ()5 (Buddha (D) #=<% (Kamandak) {

Wl?ﬁ.ﬂmmwmmﬁf%ﬂgﬁwml !

Match _hst I with list I ang Select the coprect \

T (List) 1

answer by using the codes given below.

3) 73 (Manu) _ L.AMR® ke (Civil disobedience)
b)) ﬂi”ﬁﬂﬂ(ﬁl(;utl]ya) 2.3 (Rajdharma)
C) HETHI (Mahatma Gangh; ;

e ndhi) 3, warg FOTRS (Saptang Theory)
(A)a-1,b-2,¢-3 (B) a-2, b-3, ¢-1 C) a-3,b-1, c-2 D) a-3,b-2, ¢-1
ﬁm@mfﬂﬁﬂﬁmwgﬁm@(g? ®
Who is the person Mahatma Gandhi was more impressed from?
(A)¥3 (Manu)  (B) Py (Kautilya) (C) ¥IM T§ (Mao Tse-teng) (D) 3% (Buddha)
TS Al l . : '
Match the following,
a) 31T (Arthashastra) 1. W& A+l (Mahatma Gandhi)
b) TFIfA (Manusmriti) 2.f9PM= (Vivekananda)
C) 3THHAT (Autobiography) 3. B (Kautilya)

4.97 (Manu)

(A) a-3, b-4, c-1 (B) a-4, b-1,c-2 ‘ (@) a-1,b-2,¢-3 (D)a-2,b-3,c-4
ToP B [TAROE D! "Rufas’ 71 9@ wew Rz o ?
Which of the following idea was given more importance in Plato's "Republic"?
(A) Rwem (Education) (B) IHfid <& (Political party) (C) SR (Government) (D) ®rA (Lav

Contd.
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LR O A :j“ Ry l W

A-5
fAdem: ‘
dodl IR amgTRd U | :
o mmﬁm | W'WWH,WHIYW’;W%W
Directions:
The following four (4) items are based on the table given below, match List I, with List 11, List IIl, and |
List IV, and select the correct answers usin the codes iven bellow 5 i SISE S ! ?
List I List I1 List I1] ' TR |
o PR an fe fARka fER |
oncept) (Author) Book Idea i ook |
a) UTHd e R 1) drfeITey i _\,(lg;%; the book) — |
(State of nature) (Bodin) | (Arthashastra) (Rulers and the Ruled) |
b) FrR ew | 2)3 O wow | i) o) e |
(Sovereignty) (Hobbes) | (The Ruling class) (Duty of the King) .
2 (QM‘G‘W ) I e | 3) i) R ST SR
onarchy (Mosca (Leviathan The unlimited powers of the king)
d)(mﬁ“rﬁ‘cﬁp e f%rf?mal i | 1v) aﬂﬁmj— 4) :é’r—ﬁqm) i(v)q-mﬁf%qm .
olitical elites) (Kautilya) (De-Republica Statelessness) ]
26. el gdl g g L
Listl Listll Listlll  ListIV
A) a I 3 iv
B) b 4 i
Q) c \Y 1 i
D) d I 2 iii
2wl whn whm sy
List1 Listll List I11 List IV
A)a I 2 i
B)b I 4 i
C) c IV 3 iv
D)d I 1 i
28. psicil s cilll I gE
List] ListIl List I1 List IV
A) a I 3 iv
B)b I 4 i
Qc IV 1 i
Dyd I 2 i
29. gl g g gl
List] Listll ~ ListIll  ListIV
A)a 1 i
B)b IV 3 i
Q) c | 4 iv
D)d I 2 i
30. w%WWWWA?WBWW%m@ml
Match the Group A with Group B by using the following codes.
g (Group) A 9YE (Group) B
a) T RN A Rife g 1. %9 (Hobbes)
(Two Treatises of civil government)
b) @1 F=ae (Social contract) 2.%% (Locke)
c) »fdgeE (Leviathan) 3. v (Rousseau)
(A)a-1,b-2, ¢-3 (B) a-2, b-3, ¢-1 (©a-3,b-1,c-2 (D) a-1, b-3, ¢-2
Contd...
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A-6
31. ﬁw%@awmaﬁmﬁw%,

Consider the following statements,
ToH TATEE A G O BoT
1)m“awél’ﬁ@m§?ﬁwqﬁql
(Plato's 'The Laws' did not influence Aristotle at all.)
2) tReTewer IR i
(Aristotle is regardedwas the father of political science.)
3) IR RTT S6TBl B AT o |
(Bodin has no contribution to politicy] throught.)
4) Afarad v AT TTNRD R 7 |
(Machiavelli was the first modern politica] thinker.)
(A)1% 2 (1and2) [Bl2.X4 (2and 4 (13 (1and3) (D)2 ¥ 4 (2andy
32. g A BE 9T B W FAOK 9 Brew) qomgre a8 Ot BFIEN | commmm—

Match group A with group B and select the correct answer by using the following codes.

W9 (Group) A ¥7E (Group) B

a) "A*AUSE XISTHIS XA iRer qree @y | 1.9
("Cabinet is the keystone of the political arch,") (Bagehot)

b) "af=vEs W ! B W T8TY, Te g & o RIS 2. 918 UHfday
R RIS d9 TeawE TS | (Lord Asquith)

("Cabinat is a hyphen that joins, a buckle that fastens the executive and
legislative departments together.")

¢) "WIFH=D! U8 TR 996 W6 @9 5 aReed 3.®da (Lowell)
AFATS I8 ARH |
("The office of the Prime Minister is what the holder chooses to make it.")

Codes /

(A) a-3,b-2,c-1 (B) a-1, b-3, ¢c-2 (C)a-2,b-1,¢c-3 (D) a-3,b-1,¢-2

33. Jo@ W A ssAER yfued feR gq ?

Which one of the following is the idea propounded by Hobbes?

(A) f4fd 6T (Limited monarchy) (B) == (Republic)

(C) du<1g argwen (Parliamentary system) (D) fiﬂ'cgm ITSTd— (Absolute monarchy)

Contd...
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A-7

REEE ‘
Wﬂﬁmwmama"”m““ﬁlmw,m

b - -1, -1 ] G-IV
mﬁmﬁmﬁvmﬁmwmwwl -, el kS
Directions:

The following four items are based on the table glv?n below. You are to match List-I with List-11,
List 111 and List IV, and select the correct answer “Sr'ﬂgth\ecodes given below the list.

T -1 e -1 T -1 @ -V
__ List-] List -1l List -111 List -IV
a)Uﬂgr*nda@?m 1) Favwe Bie] Qi ) 9Fare) <o i) TR JrETAd
_(United Kingdom)| _(Briefest constitution) | (Communist Part inistrati
y) | (Administrative Court
b)ﬂ'g?.ﬁ?m 2) yfoRaq wfagr ' II) Wenfae aRyg i) Y59 aReg
(United States) (Unwritten constitution) | (Constitutional (State Council)
. |Council)
c) B 3) W Seere O | 1) Ry iii) % gRTEBIB
(France) (Pepple's Republic of China)|  (Conventions) (Judicial Review)
d)(‘??; 4) o T IV) Wated ot | iv) W fam
ina (Fifth Republic) (Supreme Court) (Common Law)
Codes:
34. (A) a-1-ll-iii (B) a-2-Ill-iv
(C) a-3-1v-i (D) a-4-I1-ii
35. (A) b-3-Il-i (B) b-4-I1I-ii
(C) b-1-IV-iii (D) b-2-1-iv
36. (A) c-4-I1-i (B) c-1-I1-ii
(C) c-2-1V-iii (D) c-3-I-iv
37. (A) d-4-ll-iii (B) d-1-Ill-iv
(C) d-2-1V-i (D) d-3-I-ii

38. "3l RyrATESS! A1 ST g B 5 agee g7 SR geY X geier O e ae
3® 9 HH T G0 |
"It is a fundamental principle with English lawyers that Parliament can do everything but can not
make a woman a man and a man a woman."

Ty BT W1 B ?

Who has said this?

(A) S THAS (De Tocqueville) (B) S ®1@H! (De Lolme)
(C) Wif™a (Jennings) (D) AR™T (Marriott)

39, “SRZETIE YT AR T Y AT B A SRIUISHT AThA FrITafe) g
ARATMAHIETC T §0 X Rl AoITe TAD B 0wy SwRardl 29 ¢ @ 76 w50
817
"Presidential system is that system in which the executive is constitutionally independent of the
legislature in respect to the duration of his tenure and irresponsible to it for his political policies."

Who has said this?
(A)§RI (Munro) (B) ¥fele (Bagehot) (C) TR (Garner) (D) ERMf figrew (Dorothy Pickles)

4. A 13 A 11 P Fre Pedl TERAO 1% IR BN |

Match List I with List II, and select the correct answers py using the following codes.

a) 9= oG (Fifth Republic) 11950 AD.
b) "RAHT WfAYT (The constitution of India) 2.1949 A,
C)fﬁ’é}ﬁ EECIC ‘l“lil‘ﬂc“ﬁ'l RUTgAT . 3. 1958 AD.
(Establishment of the People's Republic of China)
Codes
Wasblez  @Bazb3 el @a1,b2,c3 (D) a-3,b-2,¢-1

Contd...
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A-8
41. 90 Rgya FuTeed g1 e B g gy | R
Among the following statements, some are t and some
a) A1 R IR OB SRRy yongy 40 |
(In China, the Communist Party of Ching controls the governm
b) vorl A AR Afee) B | he President.)
ime Minister i an the Pre :
)ﬂg’m"ﬂn gl e o M;Wmore powerf%hﬁrdwé s S T |
c 3
(In the United States, the Supreme coury ¢, declare Y Act of Congress unconstitutional,)
d) AqreH Tul A E!T{?‘Iﬁ?ﬁ FEBER) & |
(In Nepal, the President is the real executive,)
(A)aandb (B)bandc

el TR AETE 00 RICP) O Ry g | G O T UL SR gy ety
fioTR 0 g PSP SHRA T Riyery |

Directions: .
Following four instructions are based on the tap]e given below. Match List | wit

i LIk LI
are wrong. Identify them,

ent.)

(C)candd (D)aand ¢

h List II, List [1 and

List IV, and give the correct answer by using codes given below,
S T -1l —jfﬁm UEIRL,
List-I List -11 List -I1] List -IV
3 FeA 1) IR wreid | 1) RROA by &1 71 | 1) Reraw e
(David Easton) | fwm Id g T R IqH (Stimson Doctrine)
(Settlement of RIS Reverwy
international disputes) (Decision making as an
approach to the study of
international relations)

b) T T 2) FgERae] UM | 1) IRRIT agee) ii) fe Fratare yf | |
AERG |

(United Nations)| (Behavioral (Role of decision

Approach) (Membership of makers)
international community)
) ¥R, §b X | 3) A I11) wrffe e iii) RIMET T
A= (Recognition) (Collective security) Tl =B
(Snyder, Bruck and (New movement in
Sapin) international relations)
d) I3 4) frora-fomior Sarg IV) Tmie e iv) g%
(States) (Decision Making IGEGA LI (Intervention)
Approach) (Contemporary political |
ol analysis )
42. (A)a-4-ll-i (B) a-1-I11-ij
(C) a-2-1V-iii (D) a-3-I-jy
43.  (A) b-1-llI-iv (B) b-2-1v_;j
-— — _” - - —l
(€Y b-3-1-i (D) b-4-11-ij
4. (A) c-1-1V-iii .
(C) c-3-1I-i % z:i‘ll”:“’
=I-ii
45. (A)d-2-I-iv
(C) d-4-T1-ii Eg% ‘;‘i‘il\;i
~1-1V-iii
46. PTH] ISUTH! AR Sy py
The President of France remaing i, ofﬁCeW ? o
(A) 5 years (B) 4 Vears ofa tenur(c) 6 years (D) 7 years
Contd...
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49,

50.

A-9

GrarE) W gareiEnTel dodl @T@Té EAART: B

Whatis the name of the legislature of the P€oples Repyp ;. of China?

(A) #gfe e aiffe wwie (Annual Conventign of the Communist Party)
(B) ¥1f%a 319€ (National Parliament)

(C) vftza T (National Assembly)

D) 79 &h (National People's Congress)

mﬁsmgémmmmﬁmqmmmmaEmwmﬁm'

Consider the following two statements and choose correct answ. ing codes.
o (A): T e <o B | er by using ¢
Statement (A): There is no written constitution in the United Kingdom.
DA (R): A eI Wy wERT MR B |
Statement (R): The constitution of the United Kingdom is based on conventions.
(A) (A)¥ (R) 33 &% B X (R)(A) &1 W8I Wtamyw @) |
(Both (A) and (R) are correct and (R) is the correct explanation of (A))
(B) (A)X (R) 39 3% B 3 (R)(A) & 98 W&o 2 |
(Both (A) and (R) are correct but (R) is not the correct explanation of (A))
(C)(A)TF B R (R) 4% © | ((A) is correct but (R) is wrong)
(D) (A) 8% ® W (R) % © | ((A) is wrong but (R) is correct)
A IWERS FEAIE AER AR 1 A owon e B ?
When was the diplomatic code of conduct declared by the government of Nepal?
(A) 2011 AD. (B)2012 A.D. (C) 2013 A.D. (D) 2014 A.D.
ad | (A A e e de Reve B wim ™R 99 et oreE |

Match List I with List Il and select the correct answer by using the codes given below.

Al (List) | I (List) 11
a) doTadl I fae ergven 1.ISAd g0 w981 ol e 8 |
(British Political system) (Political party is the most powerful agency)
b) AAR®! ITHIfE aaven 2. 150l arefdd FEieR & |
(American political system) (The President is the real executive)
c) B orNfaE @dven 3. BT 15T a1 Rigufean wfbened v |
(French Political System) (The Prime Minister is more powerful than the King or President)
d) 4% e aawen 4~Wﬁummmﬁw@wl
(Chinese Political System) (The President is more powerful than the Prime Minister)
Codes
(A)a-2,b-1,c-3,d-4 (B)a-3,b-2, c-4, d-1
(C) a-4, b-3, ¢-1, d-2 (D) a-1,b-4, c-2, d-3

"mmm%,mmwmmﬁlmmnﬁ#mﬁa .

"International politics, like all politics is a struggle for power. "

yeifea rfaE) o aRum awo T §1 2

Who has given this definition of international politics?

(A) @R1 1$¢ (Quincy Wright)

(B)UA9 gsmae aur fiy foe (N.J. Padelfordand gz Lincoln)

(C) =9 #R1YI3 (Hans Morgenthau)

(D) f&RIR (Kissinger) ‘,
quwmmwmmgjnwmgﬁv

Which is the most important source of Inter? a(CLaW?

() ¥fe (Custom) ~ (B)wen (Usage) ¥ T (Treaties) (0) o (Religion)
T EFEIE e P o Wt
Which of the following is not an elemen
(A) g (Leadership) Eg; Tpfera CUlo) (Physical geography)
(©) TGfE dren (Natural resources) TRy (TraditiOn)

of power?

Contd...
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55.

56.

57.

58.

"The law of nations or Internatio
ction which are binding upon ¢
this definition of International |
(A) 3MUTETEH (Oppenheim) -
. B) 18X (Brierly)
€ fQﬂ?f‘:l ¥l SRIU (Philip C, Jessup) (

1 (D) 8% (Hall)
T T TGRSR Woyarmey Ye AT AT 9SF T Wy a)
¥ : 3 ER) wyAT ARG )

"In recognizing a new state as g memb
that in their opinion the new state ful
Law."

A FAT FEH A ? (Whose statement is it ?)

(A) BAfd® (Fenwick) (B) siierew (Oppenheim) (C) @@= (Kelsen) (D) 99 (Jessup)
aaﬁgmaﬁ@aﬁwmwﬁmw”%mmﬁmmquWl

Match List | with List Il and select the correct a i i
nswers using the codes given below.
= (List) 1 8

Hl (List) 11
a) FEvIeT®d 9 (Constitutive theory) 1. Y9 IWReI (State responsibility)
b) PrediP-RIET=T (Calvo Doctrine) 2. ATeReT (Self-defence)

¢) FR=Ram g (Theory of continuity) 3. 9gq1 (Recognition)

nal Lay, may be defined as the body of rules and principles of

ivilizeq States jn their relations with one another.” Who has given
aw?

€r of International Community, the existing states declgre
fills the conditions of statehood as required by International

d) %@ (Intervention) 4.5 ITRIWBR (State succession)
Codes:

(A) a-2, b-4, ¢-3, d-1 (B) a-3, b-1, c-4, d-2

(C) a-4,b-2,c-1,d-3 (D) a-1, b-3, ¢-2,d-4

wyﬁwwﬂueﬁaaﬁaﬁmﬁqw@wwmmﬁqt

Match List [ with List 1 and select the correct answer.

9l (List) I ist) I
a) I=RIEY W] T 7 sradied 1.9/l (Nego*'ation)
(Coercive means of the settlement of international disputes)
b) R re1 TR T wnfagel g 2.9 (Custom)
(Peaceful means of the settlement of international disputes)
¢) IRIfed SIS W (Source of International Law) 3. ISUENET (Statelessness)
d) TRTEfT (Refugees) 4. HTE<] (Embargo)
(A)a-2,b-3,c-4,d-1 (B) a-3,b-4, ¢c-1,d-2
(C)a-4,b-1,c-2,d-3 (D)a-1,b-2, ¢-3,d-4

frfoRad dorewar far THeRy |

Consider the following statements,

1) E ARG e sy oy ddeT Gl
(Hans Morgenthau has written Politics Among Nations.)

2) NG Haoe L AfE Swe &9 |
(Joseph Frankel has written Forej Policy in Making.)
3) fa=N Wged o wE >EP & |
(Quincy Wright has written A stug of International Relations.)
4) 9e BIRSD >Yd! g |

(Mahendra Kumar has written Worl

tics)
m@wmmtﬁ@ﬂﬁz@mg/w?ﬁwmmﬁal

Which of the above statements is/are correct or wrong? Find out the correct answers.
(A)1and 2 (B)2and 4 (C)1and3 (D)2 and 3

Contd...
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59.

60.

rlist 1V, and give the correct answer by using codes given below.

|

66.

S R O SRR T R i ARy, SR .

A- 11
TP G SRR (o ygE BRY B 7
Which one of the following is a main reason 0fintel'ventiom

(A) RERDT IRads (Change of government) (B) P
(C) STERET (Self-defence) ) :ﬁﬁ"ﬂg"?a"m ('Need'for disarmament)
5 yeadvl agvae 2 olicy of isolation)

(C) M1 IRENewsE qvg f | (For punishin
g fugitive criminals.)
(D) I ferRemRTe) Yg€q 7 | (For Promoting politica] ideology.)
focem:

MoTR @ Rever Bes) smme o Bgem |

Directions:
Following four instructions are based on the table given below. Match List I with List II, List [l and

iﬁﬁ-l T -1 = -1 T -IV
ist -1 List -11 List -111 List -1V
a) TG WGR IS B, 2004 1) TeT Bryas 1)97 T i) SrgA-3

The government of Nepal Act, 2004) (King Tribhuvan) (97 Articles) (Schedules-3)
b) AuTe IIRH TR RuE, 2007 2) U 97 9RR | 11) 133 9RI if) 3IY-5

\ (The Interim government of Nepal Act, (Prime Minister (133 Articles) | (Schedules -5)
2007) Padma Shamsher)

¢) AU ARTSUS! GRAMH, 2047 3) U1 HR 1) 73 1 iii) g1

(The Constitution of the Kingdom of (King Mahendra) - (73 Articles) | (Schedules -1)

Nepal, 2047)

d) TTeR |y, 2019 4) 3T fRee IV) 68 oY iv) RT3 \
The Constitution of Nepal, 2019) (King Birendra) (68 Articles)\ (Schedules -3) |
Codes:

(A) a-1-III-ii (B) a-2-1V-iii
(C) a-3-I-iv (D) a-4-11-i
'A) b-3-I-ii (B) b-4-II-iii
(C) b-1-III-iv (D) b-2-1V-i
(A) c-1-Il-iii (B) c-2-IlI-iv
(C) c-3-1V-ii (D) c-4-I11-i
(A) d-4-111-i (B) d-1-1V-iii
(C) d-2-1I-iv (D) d-3-1-ii

Tl e AR Geiee Bl o) Rl ?

Where was the Ninth Non-Aligned (NAM) Summit helq?

(A) 933S (Belgrade) (B) ST (Jakarta)

(C) &4 (Durban) (D) 391 (Havana)

WY R e IRIGP! Seng FEdH O IR wews qure g vy Praif e By 2
In which year was Nepal first elected as @ PO""P€rmanent memper of the United Nations Security

Council?
(A) 1955 AD. (B) 1961 AD. (©) 1964 AD. (D) 1969 A.D.

Contd. .
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67. WHWHWWMWW@@WWI

68.

69.

Match List | with List Il, and select the corr
Lj ]
a) TI& WRFR ¥ W0 Frgie T (Tiaaray 1. §egar (Federation)
9 0 favga R wrg )
(Comprehensive peace accord concludeq
between the government of Nepal apgq the

communist party of&% -
b) TN IR WM, 2063 g T fra

2.B.S. 2019 (Wa)
(A feature of the Interim constitution of

ect answers by using the codes given below.

¢) TR WA, 2019 3. P! IRA W, 2063 @1 a9 GET
(The Constitution of Nepal, 2019) (Third amendment of the Interim
Constitution of Nepal, 2063)

4.%RR 5,2063 |
Nepal was declared a Re ublic (Mangsir 5, 2063 B.S.)
Codes
(A) a-1,b-2,¢-3,d-4 (B)a-2,b-3, c-4, d-1
(D) a-4, b-1, c-2, d-3
WWWW%WWWWWWﬁWWWﬁm
wwwmﬁmvwmﬁmﬁmmﬁamw §

mmmwﬁﬁawmﬁmma?

Who has made thisg statement or where is this Statement mentioned?
(A) AR yre wrgves (Girija Prasad Koirala)
(B) 9% #9% Re (Pushpa Kamal Dahal)

(Part IV of the Interim Constitution of Nepal, 2063: Responsibilities, Dire
Policies of the state.)

q&ﬂw@nfﬁ?ﬂémwml

Match List I with List II, and select the correct answer,

Tl List) 1 o0 List) 1

ctive Principles and

a) 9fees) e fRaw oA 1.1987 A.D.
(First Non-Aligned Summit)
b) 741 WTF Rrex wReH 2.1981 AD.

(Third SAARC Summit)
¢) T AFRT Tewwd g UgH e 3.1956 AD.

(First summit of least developed countries)
d) 79E ¥ S TS gy WOAT 4.1961 AD,.
(Establishment of the diplomatic relation
between Nepal and Japan)
(A) a-3,b-4, ¢c-1, d-2

(C)a-1,b-2, c-3, d-4 (B)a-4,b-1,¢-2,4-3

(D) a-2,b-3, c-4, 4-1

Contd...
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| A- 13
7. fwzﬁM§$mmwm?WWmmmwwwmm'

Consider the following two statements and choose correct answer bv using codes.
B2 (A): TTES oo RIS, A T 5 | i
Statement (A): Nepal has followed the non-aligned forejgn policy.
Eﬁ%(R):W&ﬁqﬁﬂﬁﬁWW '
Statement (R): Nepal has not joined any Power bloc,
Frafefad a8 geranfd wd o ? (Which of the following is true?)
(A) (A)T (R) g4 @& B X (R)(A) ¥1 & ooy gy |
(Both (A) and (R) are ture and (R) is the correct explanation of (A))
(B) (A)% (R) 3¥ W B9 X (R)(A) T & Wedgwyy g |
(Both (A) and (R) are true but (R) is not the correct explanation of (A))
(C) (A) @& B @ (R) @&l B4 | ((A) istrue but (R) is false)
(D) (A) 98 B9 W (R) I& v | ((A)is false but (R) is true)
71. AHD) RAUAT Bies Hyp B ?
When was the SAARC established?
(A) 1980 A.D. (B) 1984 A.D. (C) 1985 A.D. (D) 1987 A.D.
72. frefolRen duTewRar feor e |
Consider the following two statements.
®YF (A): UES R ARG yaga T A Jg=we! & |
Statement (A): Nepal has followed the policy of promoting foreign trade.
®2 (R): o0 e mefa 9% o |
Statement (R): Nepal gives great importance to economic diplomacy. ‘
URe! weHETE T (A) ¥ TR PR o (R) “PNE O | AFYEE [eeer wiegen 3
Fod e T TR IR QAN |
(7irst statement is labelled as assertion (A) and the second statement is labelled as reason (R).
Examine them carefully and select the answers using the codes given below.)
(A) (A)% (R) 54 &g & ¥ (R) ¥11E (A) %1 @& &= & |
(Both (A) and (R) are true and (R) is the correct explanation of (A))
(B) (A)? (R) 38 &g &1 X (R) 71 (A) & udl =ARAT &g |
(Borh (A) and (R) are true and (R) is not the correct explanation of (A))
(C) (A) @& 8 % (R) T | ((A) is true and (R) is false)
(D) (A) Td R (R) W&l © | ((A)is false and (R) is true)

Contd...
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73. W9g A X @ B 919 W1 Ao an

74.

75.

76.

77.

78.

79.

e acsll
A- 14 i TR A SR LI |

using the codes given below.
B

i rs by
Match group A with group B and select ¢, correct anSWe o

& (Group) A Tfu® URT 4

a) sreRIfed ST '\’T@?T D Sifiygfy 1-%_4 of the Constitution of
(Dignity of the nation in the internationy; arena) Nepal) e

b) g fARuer T4 & (Article 76 of the Constitution of
(Secular State) Nepal)

ATl | gRT 246

gfyReg®! TS 3. ' S0

c) Constitution of the Council of Ministers) (Article 246 of the Constitution of
(Cons Nepal) .

d) e TR BT, T Y S 4. 0@ FER o] 51

_ . fth , (Article 51 of the Constitution of

(Functions, duties and powers of the Electjon Nepal)
Commission) €p

Codes 4 bl e A

(A) a-4, b-3, ¢-2,d-1 (B)a ‘3{"; Lc2,d-3

(CJ a-2 b-1,c-4,d-3 . (D) a-3, b-2, c-1,d-4

Juree Fofe A fsue T wee o @ @ °

Which is the thrust in Nepal's foreign policy?

(A) 3§l (Nonalignment) (B) Tnfxy & (Peace-keeping forces)

(C) 91 (SAARC) (D) 3% FHEN (Economic Diplomacy)

THIGD] A DT BT UFH BP Jay i Th] ] TRUP B 2

In which part of the present constitution of Nepal is Public Service Commission incorporated?
(A)amm 21 (Part21)  (B) 9T 22 (Part 22) (C) ¥ 23 (Part 23) (D) WP 24 (Part 24)

"mﬁmuwﬁmﬁﬁwﬁm-mmﬁmmmwmmwﬁ

.

WWWNWWWWWIWWE&WW

"Public administration consists of doing the work of government, whether it be running of X-ray
machine in a health laboratory or coining money in the mint. Administration consists of getting the
work done by co-ordinating the efforts of people so that they can work together or accomplish their
set work." Who had given this definition of Public Administration?

(A) f$91% (Dimock)  (B) fibwr (Pfiffner) ()" (Gladden) (D) t@drzawe (LD. White)
Frifofen 7ed ae "POSDCORB" %=} srezrqefia sl Ry fog ?
Who among the following had coined the tep "POSDCORB"? ﬁ’
(A) TBIT TRE (L.D. White) (B) @R Jf5% (Luther Gullick) ‘

% @1@1@ T"ﬂé. (Donald Kings|ey) (D) Bueh fSUT (Leslie Lipson)

ice and consultation) (B) ifa Aoy (policy making)
' rMulatio gRP (Appointment of P l
SUBRI JUTH Wi gy TTH ) (D) FRIGNIEHD] (Appointment of Personnel)

FEl ?
Efl\igxere wa:&;;{aerformance budg ting firg Sirnmented?
MINGER B\ € munjcjpal governments of the United States)
(B) TS WEHRAY nicipal g

(ln the Sta

AT BT e t of India)
(€) ?Fr\' ARIRTTH (In the muminVemmen :)ent of Nepal) L‘
(D) FIM werm (1 Europeap Uniop) Pal govern

Contd...
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81

82.

83.

TR . 55005 00N, R BNt

Brarew g1 I @1 pad P 8 7

" . . N in com

By public administration is meant, In ¢ Whmon Usage, the activities of th i

national, state and local governments. 0 has said thig? of the executive branches of the

Efc\)) si“c'@tf W (Herbert A Simon) (B) e & Rt (Marshall E. Dimock)
» (L.D. White) (D) ek Jfese (Luther Gullick)
aﬁsﬁswwlqwuma@ﬁ?ﬂmmm o o '

Match group I and group II, and select the correct answer by using the codes given below

_ Y& (Group) 1 ¥e (Group) II
a) WIS BT X W% Prife 071 ARAhgmd ayapfi 7, 1.@31'-@3?

sl
"T;@ ¥ SARA RIS wfrn A TR AR g (L.D. White)
( [ epersonnel management is the process of attracting, holding and
motivating people involving all managers-line and staff.")
" 2. BIgY

b) "FHARIT FE IeRaTRIEe el T |
("Bureaucracy thrives under the cloak of ministeria responsibility.")  (Finer)
" T TR

¢) b EHTH BER) o A Gad a9 A | 3.
(Ramsay Muir)
Ry

("Personnel is the sovereign factor in public administration.")

d) "3 SIS G R qeEd) WAVEE 996 g9 g, 497 <
Wed, a4, edies, faftes 7 yBhEs & ® Rfeer 9 (Dunn and Stephens)
CISENI
(Many elements combine to make a good administration, leadership, 5
organization, finance, morals, methods and procedures, but greater |

than any of them is manpower.")

Codes
(A) 3_4'; b-3l C_ZI d'l (B) a“l, b'4‘, C'3, d-2
(C)a-2,b-1,c-4,d-3 (D) a-3, b-2, c-1,d-4
wﬁyv@xlmmm,mmﬁwmwm|
Match the following List I and List 11, and select the correct answer by using the codes given below.
A (List) 1 el (List) Il

1.qgr=fa (Promotion)

a) Irgar yunel (Merit system)

b) gReedl (Seniority) 2. forseran (Impartiality)
c) (ATt |91 (Civil Service) 3.3 (Retirement)
d) =197 (Pension) 4. 9f§ (Recruitment)

Codes
(A) a-4,b-3,¢c-2,d-1 (B) a-4,b-1,c-2,d-3
(D) a-2, b-4, ¢-3,d-1

(C) a-3,b-2,c-1, d-4
qoeT FUTeRaR AR T4EN |
Consider the following statements. .
1)?@?W%gwmﬁmﬂmamﬁgquﬁm |
(Sarder Narendra Man Singh Pradhan was the first President of the Public Service Commission of

Nepal) .
ZJWWUWWZMSWWZWTWWWWI
(The first budget of Nepal was introduced on Baishak 2, 2015 B.S.)

3) U FWER F ag A Y ﬁW’?ﬁszLzooa A RS R |
was named 'His Majesty's Government" on Magh 21, 2008 B.S.)

("The Government of Nepal" 8
TP ITavd R ST yemgg v l

#) <ol e d the cl
. i ismi € elected .

(King Gynandara, after having dismisse government, ruled the country directly.
Hﬁ@m%%ﬁq@@?ﬁww?mqﬂlwl g N
Which of the above statements is/are correct? Find the correct answerf(s)

(A) 1and 2 (B)1and3 (€) Tang 4 (D) 2 and 3

Contd...
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EEtG! W o5 P . . Ny o gdl 1, ¥d 111 v YA 1V # s

¢ 3TECHER SaEn UG ©
ﬁma@ﬁg@ﬁaﬂsﬁamwmmwl
Directions: ; : . .
}:éj]ov:ing four instructions are baseq on the gaple given pelow. Match List I with Ljst I, List 1y and
List V. and give the COMMECLANSWET by using coqes givenbeOM —— "

el G -11 ?ﬁ':il Ty ~

' o List -] List - List -1y
T ﬁL'Sté;,\, 1) PR gR AT, 2048 ) grooay o

GATRIT 3ezrzrsy

(Systematic study of

! bureaucrag)\
|

(Frederick Tylor)

SRE I e —
(Admmistration Reforms (Rule of Law)

commission, 2048)

) el G ) A ey ) e i) 204883,
(Max Weber) fRiges (Accountablhty)
(Principles of scientifjc
) management) L_/_\_J
c) gerHA 3) R 1) @ 55_' a=i.imo| i) dsnfae
(Prime Minister) | (Transparency) (Classification of Authority) YRATTTH] ey
(Father of Scientific
Management)
d) s T 4) FIRST 99Te dievrer [iv) fas X o 9B fiv) e < T
(Good (Girija Prasad Koirala) |  af¥®aq s=ify a ufe Ty
Governance) (Maximum prosperity for (Close relationship
both employer and employee) between bureaueracy
and capitalism)
Codes:
84. (A)a-1-1lI-ii (B) a-2-1V-iii
(€) a-3-1-iv (D) a-4-I1-j
85, (A) b-1-Ill-iv (B) b-2-1V-i
(C) b-3-I-ii (D) b-4-1]jii
86. (A) c-1-II-iji (B) c-2-111-jy
(C) c-3-1V-i (D) c-4-1-jj
87. (A) d-1-IViij (B) d-2-]-jy
(C) d-3-11-i (D) d-4-111-j
88.

¥9E (Group) A Ive the correct answer
¥4qe (Group) B

2) (”Agd”"q,;'? I Py 1.2013 BS.
Ministrative Reorganizatj, :
N Compm; :
” mf?'mt t Rmm ) 2.2009 BS. ;
nNistrative eorganizatjo !
np| 1
2 ‘A' T SR ST (s an) 3.2032 BS.
d) (mmmlmsuangm" e T Compy mission)
T g ") (Jha Com 4.2025 BS. i.
(Administration Reform ¢, :
Codes ;

(A) a-1,b-4,¢-2,4-3
(C) a-3,b-2,c-4,d-1

MissiOn) (Thapa Commission)

(B) a-2,b-1,c-4,d-3
(D) a4, b3, c:2,d-1

Contd.-
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89.

90.

91.

93.

94.

95.

A-17

Wied Boreg Rema) e T -
Nepal embarced upon the plannedSCOUFSe of de"elopmem since
B.S. 2013 B.5>. '
(A) 2008BS (B) SRETR (€) 2017 Bss. (D) 2047 B.S.

ATEP] FAAE D G T T SRR vl TRYF) 67

In which part of the present Constitution of Nepal, CJA A has been provided for?

(A) €&l 9 (Part 20) (B) yawig¥! I (Part 21) (C) e W (Part 22) (D) 3wt T (Part 23)
qod! e GRS ARG AR 900 Tdy

Which of the following refers to civil society?

(A) TOIRT® ot smag ween (Institutions affiliated to political parties.)

(B) WaN! HuREwgR waifed 9% (Institutions run by government officials.)

(C) TJqTE WRe IRFRHNY wvenm (Non-government institutions different from the state.)

(D) TFR ¥ el ARbewgRT WY 01 Gl TReeT wdven

(Institutions established jointly by the government and private individuals.)
p)

A DA T T SO GICED

Which are the areas does inclusive democracy refer to?

a) XoHfdd & (Political field) b) & & (Economic field)

c) 9ferd & (Educational filed) d) arraRofy &3 (Environmantal field)
(A)a,bandc (B)b,candd (C)a,candd (D)a,bandd

ATl A Ued ARYF wE dIf Blee Frate o) R ?
When was the election to the second Constituent Assembly of Nepal held?
(A) AT 4, 2070 (Marga 4, 2070) (B) Wi 2,2070 (Marga 2, 2070)
(C)®r 3,2070 (Marga 3, 2070) (D) AT 6, 2070 (Marga 6, 2070)
Todl FATERIR TR e |
Consider the following statements.
1) TSP IFARA AT, 2063 B TR GEEHS TITHH U=k U1 T4 |
(The third amendment of the Interim Constitution, 2063 set up the republic of Nepal.)
2) e JARTS®! AU, 2015 @ AYGH TouRd FIRTH) AT =41
(The Constitution of the Kingdom of Nepal B.S. 2015 introduced Panchayat System in Nepal.)
3) YTHHT YUH UTH SITHd WU SUE 20 A 2037 WIOA YUl B |
(The first referendum of Nepal was held on Baisakh 20, 2037 B.S.)
4) e WY 2019, AUGH T9HRT oM |flaE £y |
(The Constitutions of Nepal 2019, was the longest Constitution of Nepal.)
m@mmmw?wﬁwﬁvwﬁ%me?ﬁwmmmﬁﬁl
Which of the above statements is/are correct or wrong? Find out the correct answers,
(A)land2 (B)1and 3 (C)2and 3 (D) 2 and 4
qod FAale Toad] eRie Afdd (6§ e 7 ?
Which one of the following is a main objective of the foreign policy of a state?
(A) ¥roififde faaReRTH yagH (Promotion of political ideology)
(B) RISy fed®! ya@= (Promotion of national interests)
(C) ydes1 s (Development of Tourism)
(D) 4 T5¥8%P] fbepyol (Unification of all states)

Contd. ..

Scanned by CamScanner



GEHGE A-18
IO AR FHEEw TR g .
ﬁnﬁﬁmﬁmﬁﬁqwmm%maﬂaﬁaﬁ'W@Hfﬁlmﬁwu'?ﬁ"””ﬁ*ﬁ-lv
Directions: ST e X BIIEL
The following four items are baseq on .
: : the tap)e given below you are to match List-I with List.
lLlSt i an%é;;s'; IV, and select th%orreq answ:rgusin the code given below the list X
- -II r’-—*’g””-m
List -1 List -1y o 1 v
P List - List -1v
2 7 TR PR fRraw
Concept <
( Pt) (Author) (Book) (Idea in the book)
2) FNIH T 1) 10 w1 5y S7ehy <o =
(Internatioanl Law) (Mangal Krish J li Politi i) X e
Shrestha Na | (Nep2 Itics) (Existence of Nepal)
b) UTEH AT 2)?3;1ng1$ e o B T ———
PHIGE (Hugo Grotius) L aﬂgﬁvs al 1) o faary
(Public Administration I (Political development of
in Nepal) (Nepal: lSJtl‘ategy for Nepal)
surviva
c) Ut IS 3) o €
~ ) 3€ X e i) TR T
(Nepali Politics) (Leo E. Rose ) g@' belli ﬁﬁl i) RIGEI
) (Dejure belli ac pacis) (History of Nepalese
d) AR IR Ay 4) F=ReT e Public Administration)
V) UTSHT Heite iv) YouERdE
(Foreigin Policy of (Rishikesh Shah) ) T3 V) . e
Nepal) . (Relations between
(Public Administration states)
in Nepal)
96. List 1 List 11 List I11 List IV
(A) a 2 111 iv
(B) b 3 v i
Q) ¢ 4 I ii
97 (D) d 1 11 iii
: List I List1l  List] )
) a o II\” iI;ISt IV
(8) b 1 IV iii
Q) 4 111 :
(D) d 2 I v
98. List]  Listn L o
(t\) a 2 HIIS& .L]§t IV
(B) b 3 \% v
© c 4 I g
00 (D) d 1 I I
: List | Listll |4 iii
(A) a s ol sy
(B) b 1 v ii
Q) ¢ 2 I iii
(D) d 3 Il i
i
Contd...
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. A PO ST ProTIR | 19

Match the following columns.

B -1 M ——
P"_'((;olumn - (Colump _; P -111
h) ARLTIR GHUATT 1) g W_ (Column -111)

TR |

(Abuse of Authority) (Effective Public Mana ement I]Wqﬁ'ﬁ ?rﬁ. |
b) JImAA 2) <ol &7l _ (Socn'al conditions)
_(Good governance) (Just claim) i) (E’:ﬁ;dw -
c) XAl M (Women) [3) arua (Illegality) ) m?}ﬁg‘:z) Y
d) fS®R (Right) 4) FREAYT (Em . .
2 pow

(&) a-1-i1, b-3-%, ¢-2.1v, o4 €rment) |iv) ¥R (Corruption)

i T p (B) a-2-iii, b-4-ii, c-3-i, d-1-iv
(C)a-3-tv, b1 e-4-1, d-24 (D)ot b et o311

~ The End ~
AT TG Key afamd w09 goirg THutg | Sevr "RHT el 3T €78 |
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